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Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.
Question 1. A. school	B. chocolate 	C. cheer	D. change
Question 2. A. sign	B. kill	C. give	D. pick
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of the primary stress in each of the following questions.
Question 3. A. explore	B. provide	C. order	D. require
Question 4. A. dangerous 	B. various	C. cultural	D. important
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 5. Your sister can cook meals, _______?
	A. can she	B. can’t she	C. doesn’t she	D. can’t your sister
Question 6. It’s commonly believed that_______ dogs make good pets. 
	A. Ø (zero article)	B. the 	C. a	D. an
Question 7. She will have finished the preparations for the meeting _______.
A. by the time her boss arrives	B. after her boss had arrived
C. as soon as her boss had arrived	D. when her boss arrived
Question 8. Laura expects that she _______ to the year-end party.
	A. invited	B. will be invited	C. will invite	D. was inviting
Question 9. When my mother _______ plants in the garden, it started to rain.
	A. has watered	B. waters	C. is watering	D. was watering
Question 10. The store offered _______ the money I paid for the book I returned.
	A. refund	B. refunding 	C. refunded	D. to refund
Question 11. According to the _______ of this game, no player except the goalie, can touch the ball with both hands. 
	A. lines	B. rules	C. laws	D. norms
Question 12. Students should take advantage of available materials _______ the Internet.
	A. with	B. in	C. on	D. at
Question 13. I ______ a few adjustments to the gears and my bike works much better now.
	A. did	B. formed	C. acted	D. made
Question 14: The archaeological excavation _______to the discovery of the ancient city lasted several years.
	A. led 			B. leading 		     C. was leading	            D. was led 
Question 15. The prospect of living a peaceful life in the countryside is very _______.
	A. attract	B. attractive	C. attractively	D. attraction
Question 16. Tik Tok was launched by a Chinese company in 2016 and it has really _______ ever since.
	A. put on	B. taken on	C. caught on	D. given in
Question 17. The board of directors unanimously rejected the idea of online advertising, saying that it would _______ a large amount of the company’s budget.
	A. inhale	B. ingest	C. absorb	D. swallow
Question 18. Her salary is ________ than it used to be. 
	A. higher	B. more high	C. the highest	D. as high
Question 19. The local press has been pouring _______ on the mayor for dissolving the council.
	A. blame	B. scorn	C. hatred	D. disapproval
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined bold word(s) in each of the following questions.
Question 20. Each member should be notified of any changes to the team building event.
	A. required	B. informed	C. invited	D. instructed
Question 21. Changes brought about by urbanisation have created great wealth in this city.
	A. admiration	B. richness	C. answer	D. access
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.
Question 22. If you want to win the next match, you’ll have to put your shoulder to the wheel.
	A. have a balanced diet		B. stop practising hard
	C. eat what you want		D. make a real effort
Question 23. With courage and determination, he left home to pursue his dream.
	A. accept	B. affect	C. achieve	D. abandon
Mark the letter A, B, C, or D on your answer sheet to indicate the most suitable response to complete each of the following exchanges.
Question 24. Linh is inviting Suzy to lunch.
Linh: “Would you like to join us and have lunch at a new Japanese restaurant?” 
Suzy: “_______”
	A. Not at all. 	B. Yes. I’d love to. 	C. Here you are. 	D. Thanks so much.
Question 25. Peter and Laura are talking about music.
Peter: “Music is an essential part of our lives.”
Laura: “________. It helps to bring people of different culture together.”
	A. You’re right		B. I don’t quite agree
	C. You’re welcome		D. I don’t think so
Read the following passage and mark the letter A, B, C, or D on your answer sheet to choose the word or phrase that best fits each of the numbered blanks from 26 to 30.
THE URBAN WORLD IN 2050
Life in cities will be very different from how it is today. Energy, especially oil, will be very expensive, so (26) _______ people will probably work at home, or have their workplaces close to where they live. There'll be less traffic on the roads, and it'll be easier for people to be close to their families. For these reasons, cities won't have just one centre (27) _______ everyone goes to work and shop. (28) _______, we'll probably see cities with many different centres.
It will be difficult to (29) _______ enough water, gas and electricity for really big cities, so these will probably stop growing. Many people from the countryside will move to smaller cities of 500,000 people or less. Transport over long distances will be a lot more expensive than it is now, so people will have to use food and energy from the countryside around their cities. They’ll use local (30) _______ for building, and perhaps traditional styles of architecture, too.
(Adapted from English Unlimited by Alex Tilbury et al.)
Question 26. A. every	B. another	C. much	D. many
Question 27. A. whom	B. where	C. whose	D. which
Question 28. A. Moreover	B. Therefore	C. For example	D. Instead
Question 29. A. construct	B. recover	C. compete	D. provide
Question 30. A. documents	B. ingredients	C. materials	D. flavours
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 31 to 35.
Stress is worry and anxiety in your life. Stress stops you from relaxing. It is the most common cause of heart disease and it can lead to cancer. Stress can cause poor concentration, can affect judgement and can result in accidents. Stress can be the cause of family break-ups, violence and even suicide. So what are the main causes of stress in a typical modem lifestyle?
A study has identified between 50 and 60 possible causes of stress. The most common cause of stress is having financial problems. People cannot do the things they want to do because they lack money. Debts are growing because mortgage repayments are increasing and credit card bills need to be paid. The cost of living is rising, and it all adds up to worry. Pressure and worry at work is another cause of stress. People worry that there is change and people worry when there is no change. They may feel that their boss does not understand them or that he makes life difficult for them.
People have found ways to deal with stress. Some do yoga or other forms of relaxation exercise to prevent them from becoming over-anxious, while others claim that taking part in hard physical activity helps them to work off stress. Everyone should make sure that they spend some time every day doing what makes them happy. Stress is a killer.
(Adapted from IELTS Target 5.0 by Chris Gough) 
Question 31. What is the passage mainly about?
	A. Different types of stress.	B. The benefits of stress.
	C. An overview of stress.		D. Some ways to reduce stress.
Question 32. Which of the following is NOT mentioned as a result of being stressed?
	A. Dangerous diseases.		B. Divorce.
	C. Accidents.		D. Bad habits.
Question 33. The word ‘rising’ in paragraph 2 is closest in meaning to _______.
	A. increasing	B. spreading	C. burning	D. flying
Question 34. The word ‘them’ in paragraph 2 refers to _______.
	A. debts	B. bosses	C. repayments	D. people
Question 35. Which of the following is TRUE, according to the passage?
A. Not having enough money to meet their basic needs may make people stressed.
B. Stress isn’t as dangerous as we may think.
C. Only by participating in gentle exercise can people eliminate stress.
D. People nowadays are typically worried about their future.
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 36 to 42.
The line dividing work and leisure time is blurring before our eyes, says one expert, and a phenomenon called ‘weisure time’ is being created. Many people who haven’t already given up the nine-to-five working day for the twenty-four seven life of weisure will probably do so soon, according to sociologist Dalton Conley, who coined the term. According to Conley, it is no longer clear what is work and what is fun in an office, at home or out in the street and it is becoming increasingly difficult to say whether activities and social spaces are more connected to work or play.
However, there are limits: the merging of work and leisure does not mean, for example, that bankers are working on complex financial matters during their children's parties. But it does mean that more and more people are using smartphones and other new technology to contact business colleagues while they are with their families or to chat with Facebook friends during an office meeting.
So, what happened and why do people want to mix work and play? First of all, according to Conley, there’s more work and less play than there was in the past. ‘For the first time in history, the higher up the economic ladder you go, the more likely you are to have an extremely long working week,’ he says. Busy people often want to save time by being involved in business and pleasure simultaneously.
Although there are clear benefits, what is disturbing is the idea that we will be changed by weisure. ‘We are losing our so-called private life,’ Conley says. ‘There’s less time to relax if we’re always mixing work and leisure.’ But, if you're thinking that a backlash may be around the corner for the weisure concept, you’re right. In fact, according to Conley, it has already begun. It is evident in the rise of alternative social movements involving people ‘who live in a more environmentally conscious way,’ he says. But he believes that unless we are sent back to the Stone Age by a natural disaster of some kind, there’s no turning back the clock on the spread of weisure.
(Adapted from First Master Class by Simon Haines and Barbara Stewart) 
Question 36. Which best serves as the title for the passage?
	A. A New Wave of Leisure.	B. Welcome to a Novel Lifestyle.
	C. Work-Life Balance.		D. The Fresh Pandemic of Entertainment.
Question 37. According to paragraph 1, what does Dalton Conley say about the future?
A. Many people will quit their jobs due to considerable pressure.
B. Regular working hours will come to an end at some point.
C. Some people will choose to work remotely.
D. Many people will connect their work with enjoyment.
Question 38. The word merging in paragraph 2 can be best replaced by ______.
	A. effect	B. improvement	C. support	D. combination
Question 39. The word they in paragraph 2 refers to ______.
	A. people	B. friends	C. colleagues	D. smartphones
Question 40. The word simultaneously in paragraph 3 mostly means ______.
	A. at a constant rate		B. in a different way
	C. at the same time		D. to an alarming extent
Question 41. Which of the following is NOT mentioned in the passage?
A. There are many people using their phones while attending a meeting.
B. Dalton Conley was the first to invent the phrase ‘weisure time’.
C. Many employees decide to work overtime for economic reasons.
D. Holding a high position in a company means having to work long hours.
Question 42. Which of the following can be inferred from the passage?
A. People didn’t attach great importance to entertainment in the past.
B. Bank clerks usually have to handle complicated financial documents.
C. The public reaction to the mixing of work and leisure needs to be investigated.
D. More people are expected to adopt the ‘weisure’ lifestyle in years to come.

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.

Question 43.Yesterday the world witness perhaps the most significant Grand Slam final  in history.
			    A	 	B						    C     D
Question 44. This hotel is very popular with foreign tourists because of their excellent services.
			   A		      B				          C		D
Question 45. They conducted an exhaustive study into the observant impacts of violent films of
					A			     B			  C
teenagers’ behaviours.
		D
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.
Question 46. “I’m not going to see the doctor tomorrow,” said my mother.
A. My mother said that she was going to see the doctor the next day.
B. My mother said that I wasn’t going to see the doctor the following day.
C. My mother said that I was going to see the doctor the next day.
D. My mother said that she wasn’t going to see the doctor the following day.
Question 47. It isn’t necessary for you to fill in this form.
A. You shouldn’t fill in this form.
B. You needn’t fill in this form.
C. You can’t fill in this form.
D. You mustn’t fill in this form.
Question 48. Mary started playing tennis professionally when she was 19.
A. Mary has played tennis professionally since she was 19.
B. Mary had 19 years to play tennis professionally.
C. The last time Mary play tennis professionally was when she was 19.
D. Mary has played tennis professionally for 19 years.
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.
Question 49. Kathy isn’t fluent in Japanese. She can’t get the job.
A. If only Kathy had been fluent in Japanese, she could have got the job.
B. Provided that Kathy is fluent in Japanese, she can’t get the job.
C. Kathy wishes she were fluent in Japanese so that she could get the job.
D. If Kathy had been fluent in Japanese, she couldn’t have got the job.
Question 50. Women mustn’t wear short skirts when entering this temple. There’s no exception whatsoever.
A. Under no circumstances are women permitted to wear short skirts when entering this temple.
B. At no time are women forbidden to wear short skirts when entering this temple.
C. On no occasion were women allowed to wear short skirts when entering this temple.
D. By no means are women banned from wearing short skirts when entering this temple. 

THE END
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